Cnucok YJamuxcda 1 BAKAHTHBIX MECT

B MBOY "Jlo0psiHcKasi 0CHOBHas 001eo0pa3oBarejibHas mikoJa Ne 2"

39/4 xnaccoB (43 kiacca)

Ha 16.01.2013r.

KoJu4ecTBO ydyammxesi 930/65 (995)

la— 24(1 mecto) 2a—25
16 — 19(6 mecr) 20 —24/1
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38—25
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58— 28 68 — 19/3(3 mecra)
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4 —84/10(2 mecta) 61—24/1

5 -92/16(5mecT)

7a—25
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78 — 24/1
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71 - /10(1 mecTo)
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46 — 26

4B — 25/1

4r - 23(2 mecra)
40 — 23(2 mecTa)
5—118/5(4 mecTa)

8a- 25 9a - 26

80 — 24(1mecto) 96 — 23/1(1 mecto)
8B - 27 98 — 24(1 mecTO0)
8r — 24(1 mecTo) 9r — 16/2(7 mecr)
81— 10/5 4 — 88/3(9 mecT)

5 _ 100/11(1mecto)5 — 112/5

5-9=20/3 (23 kmacca) —476/45 (521)



